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A EEEhRRRODEETSE

% g - AKTiE Bifr = fiff & #B
EEIEE 80, 853, 393
MiEIER 13,281,525 + 22,498, 245 35,779, 770
HBEREE GD 5,802,587 + 6,912,965 + 565 973 13,281, 525
HBERHE (BLE) 5,802, 587
HBERER (F) 80,853,393 x 8.55% ((4.99% x1.68) x 1.02) 6,912, 965
BSRENER 80, 853,393 x 0.70% 565, 973
RnEER 94,134,918 x 23.90% ((22.71% +0.49% x 1.03) 22,498, 245
e i 80,853,393 + 35,779,770 116, 633, 163
—REEEZ 116,633,163 x 16.76% (16.76% x 1.00) — 6,334 19,541,384
RFIIRELE 116, 633,163 x 0.04% 46, 653
RISy T -61, 200
T &l 116,633,163 + 19,541,384 + 46,653 — 61,200 136, 160, 000
HBETEALE 136,160,000 x 10.00% 13,616, 000
HAISE 136,160,000 + 13,616, 000 149, 776, 000




BERARE 2 S R I R B RIS (IS T
2 o % - BIRTE B 8 B i ¢ = #HE
EHEIEE 80, 853, 393
B iR 80, 853, 393
HET 80, 853, 393
EEEaT 80, 853, 393
Hi¥en 80, 853, 393
1 EREEBEERAQN) IKZR10mEK 575 6,813.00 9, 260 63, 088, 380
m3
2 EEERIRAQ) IK 3R 10m~ 20mk i 1,927.00 9,219 17,765,013
m3
HEREEFEL) 5,802, 587
HEREE 5,802, 587
TeH 5,703, 287
Z 5 5,703, 287
3 BKBAE 1.00 204, 623 204, 623
=
4 RBRRVEBMHEE 1.00 4,107, 000 4,107, 000
=
5 RBEIWE 6.00 220, 842 1,325, 052
.
6 ERmE 3.00 19,724 59,172
&R
7 REHEER RERRUVERS 1.00 7,440 7, 440
=
BiTEEE 99, 300
HiTEE 99, 300
8 ETIERIAE 1.00 99, 300 99, 300
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2 ERERERAQ)  KFEIOMKE 1000m 34 Y
£ 7 R - BIRTE BARL #H = B Of | W E B &
A 5~100kg
m3 1, 300. 00 6, 900. 00 8,970, 000
Bk D 270PSE! 3~5tH
B 1.20 203, 605. 00 244,326 8H
AR L NOY
% 0.50 9,214, 326. 00 46, 071
= 5 YEZERES - 1,000.00m 3 9, 260. 00 9, 260, 397
&5 :2
2 EBIEEERA Q) KFE10m~20mK i 1000m 34 Y
£ 7 R - BIRTE BARL #H = B Of | W E B &
o 5~100kg
m3 1, 300. 00 6, 900. 00 8,970, 000
Bk D 270PSE! 3~5tH
B 1.00 203, 605. 00 203, 605 8H
AR L NOY
% 0.50 9,173, 605. 00 45, 868
= 5 YEZERES - 1,000.00m 3 9,219.00 9,219, 473
%5 :3
&% BKAE =1
£ 7 R - BIRTiE BAGL #H = B Of o W E B =
Bk D 270PSE! 3~5tH
B 1.00 203, 605. 00 203, 605 8H
AR L NOY
% 0.50 203, 605. 00 1,018
= 5 1YE%HeH - 1.00K 204, 623. 00 204, 623




Rifiz -/ \v7r—o

A EE R R RIRCDEETSE

E2=
2% RBRERRVERMHE 1LY
£ 7 R - KT By B = B Of | W E B &
REAY RFz—V o JISE19mmx 13m
ZN 3.00 228, 000. 00 684, 000
RAEAY RFz—V o JISE19mmx 25m
ZN 3.00 349, 000. 00 1,047, 000
- (F) vyl (HESRED) oIfE JISE19mm
& 12.00 67, 500. 00 810, 000
PHER 30mm % 100mm % 100mm
& 12.00 3, 000. 00 36, 000
EE (REBRED)
& 3.00 480, 000. 00 1, 440, 000
X E
= 1.00 90, 000. 00 90, 000
= it 1YE%HeH - 1.00K 4,107, 000. 00 4,107, 000
55
2 REBERIE 1K
£ 7 R - KT By B = B Of | W E B &
g L—ftEM 35~40t R
B 0.30 338, 129. 00 101,438 6. 00H / 8H
EIEE D 300PSE!
B 0.30 125, 333.00 37,599/2.00H / 8H
oK LiR D 270PSE! 3~5tm
B 0.30 203, 605. 00 61,081 8H
LU
A 0.30 25, 940. 00 7,782
LEEXE
A 0.60 19, 740. 00 11, 844
AR L NOY
% 0.50 219, 744. 00 1,098
= 5 1E%HERN - 1. 00K 220, 842. 00 220, 842
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&S :6
&% EFRE 18& T
£ 7 R - BIRTE BARL 2 B Of | W E B &
U
A 0.30 25, 940. 00 7,782
LEEXE
A 0. 60 19, 740. 00 11, 844
AR L NOY
% 0.50 19, 626. 00 98
= 5 1YEZHED 1. 00 FRr 19, 724. 00 19,724
&5 .17
B RERMEER FRBRRUVER =1
£ 7 R - BIRTE BARL 2 B Of | W E B &
EVBEHEES
= 1.00 5, 640. 00 5, 640
BEL - #FAHER
= 1.00 1, 800. 00 1, 800
= it 1YE%HeH - 1.00K 7, 440. 00 7, 440
%5 :8
2% EIERAE =1
£ 7 R - BIRTiE BAGL 2 B Of | W E B =
FEERAE
= 1.00 99, 300. 00 99, 300
= it 1YE%HeH - 1.00K 99, 300. 00 99, 300
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BiHRES 1
BRAH : BKkLtH D 270PSE 3~5tA 185y 8H
% 5 R - AR R B3 % =B B * # = B &
Bh R
L 129. 00 85.90 11, 081
KRR
A 0.24 47, 250. 00 11,340/ 8 =1.20
Bkt
A 1.20 47, 250. 00 56, 700 B=1.20
BAKERE
A 1.20 34, 340. 00 41,208/ S=1.20
BKERE
A 1.20 33, 180. 00 39,816 B=1.20
B GBAKEm) D 270PSE! 3~5tfm
=] 1.00 13, 100. 00 13,100 pER =]
B GBAKEM D 270PSE! 3~5tm
=] 1.65 18, 400. 00 30,360 a=1.65 #RA
= it 203, 605
BiHRES :2
BERELM : ¥ L—ftEM 35~40tA 1H%HY 6.00H / 8H
% 5 R - AR R B3 % = B * # = i &
Bh R
L 94. 00 85.90 8,074
MEE
A 1.20 30, 350. 00 36,420 B=1.20
TEmE
A 6.00 24, 260. 00 145,560 3=1.20
BH (U L—oEm H0—5%4 L—235~40tR  S#R300tHE
=] 1.00 13, 600. 00 13, 600 pER =]
BH (U L—oEm H0—5%4 L—235~40tR  S#R300tHE
=] 1.65 81, 500. 00 134, 475 a=1. 65 #RA
= it 338, 129
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HifiR&ES : 3
BiffiR4&F5 : 5/ $ED 300PSE! 1THHY 2.00H / 8H
% 4 R - MRk BfL g B #® i " &
EihA
L 69. 00 84.00 5, 796
=RMEE
A 1.20 30, 350. 00 36,420 8=1.20
TEMma
A 1.20 24, 260. 00 29,112/ 8=1.20
B8 (G (HE]) D 300PSZ!
s 2.00 2,830.00 5, 660 EERRE
B8 (G (HE]) D 300PSZ!
B 1.65 29, 300. 00 48,345 a=1.65 #“AE

& &

125, 333




